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This is according to 958» 529 — K57 TOR% %29 1R N7

OVERVIEW
The X713 cites a Xn*72 which contradicts 27 (regarding 172 w>7pn7) and the X2
responded that this Xn>72 is according to »"7 (who indeed disagrees with 27).

— 1981 299 NYT 297 yRWN NI
It seems from this X713 that 39 disagrees with »''1 —

mMooIn anticipates the following difficulty:
— 9581 9299 1917 1) PHY Y5 2‘[‘1)’ IIND (x,n 97 1229YT NP P92 9INT KM

And regarding that which 27 ruled in the first 99 of 1°>9y noon, one who said,
‘I am obligating myself to give w727 the T9v of this vessel’, he gives its value to

w7pPn, and the X773 states that this ruling is according to 2" -
— 0199 AN XY I9Y 9909 21 T PNT (x5 ov) O9Y YYDV IND P92 19

And similarly in "5 “5pw 2287 P2, where the mwn teaches, if one said ‘I am

obligated to pay the 79¥ of my hand or foot’, nothing has been said -
— 9N 299 VY919 N7 1M NYY 29 91N

And 21 commented on this 71w», but he gives w7pn the value of *2371 >7°, and the

X3 explained that s'27 ruling is according to %''9; we see in these two instances that 27
rules like »" (that 77V2% 1727 X°¥11 X"'R) in contrast to our X3 where 27 disagrees with n"1 —

mooIn responds:
— 1199 N30 XD 19D) 9INRP NN 9297 NIUN

21 taught us how the ruling would be according to »''9, but 27 does not agree
with it —

mooIn responds to an additional anticipated difficulty:
—%1505117 PPN 233 (kv 97 PITAIDT NP P9 90T 23 YY N

" The xn™2 (which is according to n"1) states regarding 172y w>7pna that 117 X9R W PR ROW, because (see n1"7°"wA
X)) n"7 maintains 77027 1127 R°¥ DX PR; however 17 disagrees and maintains 77027 1127 X1 07X, See “Thinking
it over’.
? The term T - assessment (used as *2¥ *37y or *9¥ 1175 77w) obligates the person to give wTpi a fixed amount of
money (as prescribed in the 771n), depending on the age and gender of the 77w1. It applies only to people, but not to
anything else.
3 "1 maintains 79027 1727 XX K"K so even though he said 7y *22 79y which is meaningless (see previous footnote
# 2), we interpret it to mean > 17 °73 "7, which does obligate him to pay wTpn.
* The first 7wn in 177710 states that 1°2u%0nn 1375 require three 0°17 (to assess the value). The X3 discusses what
is meant by 1°2u%vni 1237w,
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And even though that in the end of the first 9o of 1997710 noon regarding

‘movable’ 929y -
— 551 1%9 X920 NY 99NM 5295 9 299 T9¥ IMIIND 29 WAaN

29 explained that 15v5vnn 127y means when a person says 9y "3 77y, so even
though 17 explained the 71wn according to »''9 that 75027 27 X% R"X (and he has to

pay), nevertheless 27 does not agree with this ruling —

mdoIn finds support for this explanation:
— (e 97 mama) 1PN NIAYN WA INIYUN NI NN 2D

And we find something similar in the beginning of n 11731 735K o -
— Snm175 SWIND) 130 NNINT TINIY o0 Syat

Where the X3 wanted to say, that according to PXWw the mwn reads navroam,

like the 7737 SN -
£999) YWIND NOYN UNINIY 9N (x,1 ow) NNNINMY NIY) 91037 2) Uy 9N

Even though that in the end of mnnsniw m79w1 o, there Y8ww stated that the

o9 is like 9993 "WIR (not like 777 *wik) and nevertheless he tried to interpret the mawn
according to 7717 "WIX, similar to 27 interpreting the 71w according to n'"A.

SUMMARY
We find o°&7 X citing rulings and interpreting N1Iwn according to views which
they do not share.

THINKING IT OVER

Moo (seemingly) presumes that 27 disagrees with the view of n"9 that XX X"
72v32 1127.” However it is possible that generally 27 agrees that 127 &% XX
7022, however here by 172y wTpn he is not 77025 X%, for RP WITP OV N2

> This question is more difficult than the previous ones, for there 21 (merely) taught us that according to »"1 this is
what the 717 would be in these circumstances. However here if 17 disagrees with 2" how come he is explaining the
71wn and according to n"7 (especially since [there is a difficulty with this explanation as the X3 there points out,
and] there are other ways how the 71wn is explained). Nevertheless n901n maintains that we can still say 7"o 82 121
[See v"wn and ax1 °17p, see (however) X"w7n who explains it (somewhat) differently.]
® The custom of the 23 *wiX was that a widow can remain in her deceased husband’s house and be supported by his
estate as long as she does not claim her 7121n5. However, the custom of 7717 *wiX was that the heirs had the option of
giving her the 72112 whenever they so desired and sending her away. This in turn would make a difference how we
read the mwn there (3,7%); whether 270 *01om N1 7oK (like 993 “WiR), or NPT AR (like A7 "WIR).
" The xma cited a ruling of HXw which would indicate that a0 n1is.
¥ nnra 7m9% means the 7198 when she is supported Dm0 021, indicating that it is not up to her, but rather she is
at the mercy of the omn°.
? See footnote # 1.
10 See 7"nx # 94 (and 99).
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